

## Tuition & Fees Overview Academic Year 2026 - 2027

## **Bachelor's Programs**

## <u>Annual Tuition & Fees – American Bachelor's programs</u>

- EU/EFTA Nationals & Czech Permanent Residents: 258,500 CZK (≈ 10,692 EUR / 12,310 USD)
- International Students: 311,000 CZK (≈ 12,863 EUR / 14,810 USD)

#### **Tuition Breakdown:**

Tuition is calculated based on the number of courses/credits that students are taking per semester. The duration of the American Bachelor's programs is 4 years (2 semesters per year). Students must complete 92 UNYP credits and 32 SUNY - Empire State University credits to graduate. Typically, each course is worth 3 credits. Students pursuing the dual degree option must complete an additional 4 UNYP credits.

### Tuition per UNYP credit:

- EU/EFTA Nationals & Czech Permanent Residents: 8.150 CZK
- International Students: 9,900 CZK

#### Tuition per SUNY-Empire State University credit:

• 355 USD

#### Fees Breakdown:

- Application Fee (non-refundable): 2,000 CZK (one time only)
- Student Body Fee: 7,000 CZK per semester
- Reduced Student Body Fee: 3,500 CZK per semester
- Empire State University Admissions Fee: 365 USD (one time only)
- Empire State University Technology Fee: 194 USD per semester
- Transfer Credit Fee: 500 CZK per US credit
- Graduation Fee: 3,500 CZK (one time only)

#### Notes:

- For the American Bachelor program, the academic year is divided into two semesters, with each standard semester consisting of 5 courses.
- Students pursuing the dual degree option must complete an additional 4 UNYP credits.
- The reduced student body fee applies to students enrolled in fewer credits per semester and replaces the full student body fee.
- The Empire State University Admissions Fee is charged after the second year of study.
- The Empire State University Technology Fee is charged per semester beginning in the third year of study.
- The transfer credit fee applies only to students transferring courses from previous studies.
- These prices are valid starting from Fall 2026.
- Tuition rates are subject to change during the next academic year.
- Tuition fees are determined in CZK, with the EUR and USD amounts provided as estimates based on the November 2025 exchange rate.

## Annual Tuition & Fees - European Bachelor's programs

- EU/EFTA Nationals & Czech Permanent Residents: 258,500 CZK (≈ 10,692 EUR / 12,310 USD)
- International Students: 299,000 CZK (≈ 12,369 EUR / 14,263 USD)

#### **Tuition Breakdown:**

Tuition is calculated based on the number of courses/credits that students are taking per semester. The duration of the European Bachelor's programs is 3 years (2 semesters per year). Students must complete 180 ECTS credits to graduate. Typically, each course is worth 6 ECTS credits.

#### Tuition per UNYP credit:

- EU/EFTA Nationals & Czech Permanent Residents: 4,075 CZK
- International Students: 4,750 CZK

#### Fees Breakdown:

- Application Fee (non-refundable): 2,000 CZK (one time only)
- Student Body Fee: 7,000 CZK per semester
- Reduced Student Body Fee: 3,500 CZK per semester
- Transfer Credit Fee: 250 CZK per ECTS credit
- Graduation Fee: 3,500 CZK (one time only)

#### Notes:

- For the European Bachelor program, the academic year is divided into two semesters, with each standard semester consisting of 5 courses.
- The reduced student body fee applies to students enrolled in fewer credits per semester and replaces the full student body fee.
- The transfer credit fee applies only to students transferring courses from previous studies.
- These prices are valid starting from Fall 2026.
- Tuition rates are subject to change during the next academic year.
- Tuition fees are determined in CZK, with the EUR and USD amounts provided as estimates based on the November 2025 exchange rate.

## <u>American Bachelor's Programs</u> Example Calculation of Semester Tuition and Fees

#### **EU/EFTA Nationals & Czech Permanent Residents:**

Standard of 5 courses semester x 3 credits per course = 15 credits

15 credits x 8,150 CZK Tuition per credit = 122,250 CZK + 7,000 Student Body Fee = 129,250 CZK ( $\approx$  5,346 EUR / 6,155 USD)

#### **International Students:**

Standard of 5 courses semester x 3 credits per course = 15 credits

15 credits x 9,900 CZK Tuition per credit = 148,500 CZK + 7,000 Student Body Fee = 155,500 CZK ( $\approx$  6,431 EUR / 7,405 USD)

Tuition fees are determined in CZK, with the EUR and USD amounts provided as estimates based on the November 2025 exchange rate.

#### Notes:

Freshman students may be required to take one additional credit (Introduction to University Studies) during their first semester.

# <u>American Bachelor's Programs</u> Example Calculation of Annual Tuition and Fees

#### **EU/EFTA Nationals & Czech Permanent Residents:**

Standard of 5 courses semester x 2 semesters = 10 courses x 3 credits per course = 30 credits

30 credits x 8,150 CZK Tuition per credit = 244,500 CZK + 14,000 Student Body Fee (2 x 7,000 CZK) = 258,500 CZK ( $\approx$  10,692 EUR / 12,310 USD)

### **International Students:**

Standard of 5 courses semester x 2 semesters = 10 courses x 3 credits per course = 30 credits

30 credits x 9,900 CZK Tuition per credit = 297,000 CZK + 14,000 Student Body Fee (2 x 7,000 CZK) = 311,000 CZK ( $\approx$  12,863 EUR / 14,810 USD)

Tuition fees are determined in CZK, with the EUR and USD amounts provided as estimates based on the November 2025 exchange rate.

#### Notes:

Freshman students may be required to take one additional credit (Introduction to University Studies) during their first semester.

## <u>European Bachelor's Programs</u> Example Calculation of Semester Tuition and Fees

#### **EU/EFTA Nationals & Czech Permanent Residents:**

Standard of 5 courses semester x 6 credits per course = 30 credits

30 credits x 4,075 CZK Tuition per credit = 122,250 CZK + 7,000 Student Body Fee = 129,250 CZK ( $\approx$  5,346 EUR / 6,155 USD)

#### **International Students:**

Standard of 5 courses semester x 6 credits per course = 30 credits

30 credits x 4,750 CZK Tuition per credit = 142,500 CZK + 7,000 Student Body Fee = 149,500 CZK ( $\approx$  6,183 EUR / 7,130 USD)

Tuition fees are determined in CZK, with the EUR and USD amounts provided as estimates based on the November 2025 exchange rate.

#### Notes:

Freshman students may be required to take two additional credits (Introduction to University Studies) during their first semester.

# <u>European Bachelor's Programs</u> Example Calculation of Annual Tuition and Fees

#### **EU/EFTA Nationals & Czech Permanent Residents:**

Standard of 5 courses semester x 2 semesters = 10 courses x 6 credits per course = 60 credits

60 credits x 4,075 CZK Tuition per credit = 244,500 CZK + 14,000 Student Body Fee (2 x 7,000 CZK) = 258,500 CZK ( $\approx$  10,692 EUR / 12,310 USD)

### **International Students:**

Standard of 5 courses semester x 2 semesters = 10 courses x 6 credits per course = 60 credits

60 credits x 4,750 CZK Tuition per credit = 285,000 CZK + 14,000 Student Body Fee (2 x 7,000 CZK) = 299,000 CZK ( $\approx$  12,369 EUR / 14,263 USD)

Tuition fees are determined in CZK, with the EUR and USD amounts provided as estimates based on the November 2025 exchange rate.

#### Notes:

Freshman students may be required to take two additional credits (Introduction to University Studies) during their first semester.



### Tuition & Fees Overview Academic Year 2026 - 2027

## **Master's Programs**

- Master's in Psychology: 410,000 CZK (≈ 16,961 EUR / 19,559 USD)
- Master's in Business Administration (MBA): 410,000 CZK (≈ 16,961 EUR / 19,559 USD)
- Master's in Digital Marketing and Analytics: 350,000 CZK (≈ 14,478 EUR / 16,697 USD)
- Master's in Business Analytics: 350,000 CZK (≈ 14,478 EUR / 16,697 USD)

#### Fees Breakdown:

- Application Fee (non-refundable): 2,000 CZK (one time only)
- Graduation Fee: 3,500 CZK (one time only)

#### Notes:

- Tuition fees are determined in CZK, with the EUR and USD amounts provided as estimates based on the November 2025 exchange rate.
- Master's program tuition covers the entire duration of the program.